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 fraction closest(double value, double tolerance) 
 { for (int top = 0; true; top += 1) 
     for (int bot = 1; true; bot += 1) 
       if close_enough(top / (double)bot, value, tolerance) 
         return fraction(top, bot); } 
 
 
 
 bool close_enough(double a, double b, double tolerance) 
 { double difference = fabs(a - b); 
   double magnitude = (fabs(a) + fabs(b)) / 2; 
   return difference / magnitude <= tolerance); } 
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 for (int diagonal = 1; true; diagonal += 1) 
   for (int top = 0; top < diagonal; top += 1) 
   { int bot = diagonal - top; 
     cout << top << "/" << bot << "\n"; } 
 
 
 
 


